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ENGLISH VERSION

Instructions : (1) All questions are compulsory.
(2) Use of calculator is allowed.
1 (a) Explain the meaning and definition of correlation. 8
Explain the scatter diagram method.
(b) Find r
¥ =50, (x-40) =160, Y xy = 48256, Y (v - 64)* = 1280
7=60,> (x—45)* =656
OR
1 (a) Explain the method of Rank correlation coefficient. 8
(b) Find out rank correlation coefficient : 12
x: 607242140 45|50 (60 |61]|60
y:[35]130(52|54[48|50|30(35]25
2 (a) Define the regression coefficient and state its 8
characteristics and uses.
2 2
O If > (y-5)=> x> (x+2) =480, S, =5, 12
2
n=4,y=13, nyzzy :SZJ/,thenﬁndtheboth
regression coefficients.
OR
2 (a) Explain : Regression equations. 8
(b) The two regression equations are 65x +100y —-165=0 12

and 10x+13y—-23=0 and S.D. of y is 2. Find the

regression coefficients, correlation coefficient and S.D.

of x.
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3 (a) Explain : Sample space, Difference event. 8

®) If 7P(A)=8P(B)=9P(An B)=4, then find P(A'nB),

P(AYB).
OR
3 (@ Prove that P(4uUB)=P(A)+P(B)-P(AnB). 8
() A group consists of 7 men and some women. 7

The prob. of selecting 2 women from the group is I

Find the number of women in the group.
4 (a) Define the mathematical expectation and state 8
its properties.

(b) For a Binomial distribution mean is 3 and variance 7

3
is = 5 then find the Prob. of setting at least four

successes.
OR
4 (a) State the properties and uses of Bionomial 8
distribution.

(b) The Prob. distribution of random variable x is given 7

below. Find the value of P and find V(x), E(x2 +2) .

X =2 (=-1(0(|1]2
p(x) 11 P 111
2 13 416
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